LTT-3307 RADIATION PHYSICS
Examination, October 6™, 2008

1. Compare the atomic models of Thompson, Rutherford and Bohr with each other.

2. Explain the principle of Compton scattering. What factors affect the energy of scattered
photon? How does the amount of Compton scattering depend on the material and energy?

3. a.  Principle of thermoluminescence (TLD)
b. Use of TLD in measurement of radiation in medicine.

4. What physical interaction process is the basis of boron neutron capture therapy (BNCT)?
How is the effect of the treatment focused in BNCT therapy?

5. The radioactive isotope >*U decays to **'Th with a half-life of 7.04*10® years. *'Th is also
radioactive, with a half-life of 25.2 hours. Suppose we start with a two-gram sample of pure
#331J. What will be the activity of the sample at the end of one day (approximately one half-
life of *'Th), and what will be the activity of the sample after one month? M(**U) = 235
g/mol and M(*''Th) = 231 g/mol.
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